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HIGH VOLTAGE TRANSISTOR F£T560
ISSUE 1- NOVEMBER 1998

FEATURES

¥ 500 Volt Vgq
* 150mA continuous current
* P, =2Watt

N

PARTMARKING DETAIL - FZT560

ABSOLUTE MAXIMUM RATINGS.

PARAMETER SYMBOL VALUE UNIT
Collector-Base Voltage Vego -500 \
Collector-Emitter Voltage Vceo -500 \
Emitter-Base Voltage Vego -5 Vv
Peak Pulse Current lem -500 mA
Continuous Collector Current Ic -150 mA
Power Dissipation at T,,,,,=25°C Pt 2 w
Operating and Storage Temperature Range | T;iTgyq -55 to +150 °C
ELECTRICAL CHARACTERISTICS (at T;mp = 25°C unless otherwise stated).
PARAMETER SYMBOL |MIN. |MAX. |UNIT |CONDITIONS.
Collector-Base Breakdown Vigriceo |-500 \ lc=-100pA
Voltage
Collector-Emitter Vceo(sus) |-500 \ lc=-10mA*
Breakdown Voltage
Emitter-Base Breakdown V(sr)EBO -5 \% lg=-100pA
Voltage
Collector Cut-Off Current lcgo -100 nA Vp=-500V
Collector Cut-Off Current lces -100  |[nA Vcg=-500V
Emitter Cut-Off Current lego -100 nA Veg=-5V
Collector-Emitter VeE(sat) -0.20 |V lc=-20mA, lg=-2mA
Saturation Voltage -0.5 \ lc=-50mA, Ig=-10mA*
Base-Emitter Saturation VBE(sat) -0.9 \ lc=-50mA, lg=-10mA*
Voltage
Base-Emitter Turn On Voltage |Vgg(on -0.9 \ lc=-50mA, Vcg=-10V*
Static Forward Current hee 100 300 lc=-TmA, Vcg=-10V
Transfer Ratio 80 300 lc=-50mA, Vg=-10V*
R 15 typ lc=-100mA, Vcg=-10V*
i *—,fIr&hsition Frequency fr 60 MHz  |lg=-10mA, Vcg=-20V
e f=50MHz
,C)grt Capacitance Cobo 8 pF Veg=-20, f=1MHz
FSWitching times ton 110 typ. ns Vee=-100, Ic=-50mA,
114 togs 1.5 typ us Igi=-5MA, lg;=10mA,
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TYPICAL CHARACTERISTICS

Ic - Collector Current (A)
VBE(on) v IC

VCE - Collector Emitter Voltage (V)
Safe Operating Area
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